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( This paper consists of 25 MCQ Questions (25 x 5 = 125 marks) ; 08 pages)

All those scoring about 100 or mere would be deemed to have scored 100%.The marks for the
others would correspond to actual marks obtained for this paper.

Choose the most correct answer to each of the questions and mark the answer with an "X" on
the answer sheet,

Use a Pen (not a pencil) in answering. _
Any question with more than one answer will not be counted.
The Use of a nonprogrammable calculator is permitted.
Write down clearly your name and Address at the back of your answer sheet.
Switch off mobile phones. Keep them outside.
000 gder vyed andie yuies 25 5 . (25 x 5 = 125 marks)

C®en 100 o 00 exf SO Dt Cawlon Bysy wemr 100 & GeIms BOm and gemms
85550 @53 O83 e e ey Io.

Dot ROCE BEQT emidh du B8nc vned X 08z sgnes m0sm

BEnT 318088 LS 018m0 ®OEIm.

O gRencs e BT WO B BENE BEEWIS BGBO CRE EBNCIED.
R0wmn e oS v ouln) wIBm BE DU,

880 vpoed oy 8008 2ded mH® ww B8ma oD Bustm.

Bod® 0O Fov BB wO5I. D EB BRI EIOBIH.

ReuellenndHgnein 25 LBy efenmasenst QaremiBsitsngl. (25 x 5 =125 marks)

100 ueitsfiast Seoeog Siebe CuBULL. LsTefiamen GLUEID LoTEIaITSEhSE, iOOcy) LisTiefapeit
QUIDHRISLILIBID.  cJenelLIeNiSEnGE ieuiTaeT QUDBID LsTeflaGar aupmslLfLD.

UBlsHBGHsw0Te oflmLmu GFfle Cxug slmigsraflso sfure s W5 UstenouiGs
aflenL_wellugBE Guesmenar 1B LLELGHSIGCUIFD Disd6ev)

@EPEIBE CoBLL efnLsmen Qsmemi. elledl HHEBBOSTETETIILL OTL L TZ).
CEBILLIGSHILLTS Semeflnw LTaldsHsn @NogeaEir Beiens).

s Ggreflelr Napsalsd 2 g Guuir.gpsafiomw Hes0seiams apsis.

mBHOHTmLS Ltaumer seliTdalil. CaeiiBn (Swibamp Ufi s wai_LssBeE: GeusNiGw
MEUSSHEYLD)



Question 1-11 on Integration

1. fcot 2048 =
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if jA(Zx -1?dx =13 (Aisa constant/ A Sooes / Awrdedl ); then A=
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{P+ a) (V-b) = nRT can be re-arranged to read as follows:

{P+ a} (V-b) = nRT gBesc B e 80 credwlesd
(P+a) (V-b) = nRT ez Gorpy @upriaenioliy]

nRT ‘a b) ¥ ﬂ?—+b | © V= nRT +b
(P+a)

(8 P= =
V-b (P+a)

Of these, correct expressions are /e®9) endst Hodes wmnes Ddend /o einiied
FHHHIOTEHEL. W6




(1) only(a)ahd(b) (2) onily (b} and {c}  (3) only(c) and (a) {4} only (b) (5)only(a)

13 (Pt +(Pv —1gP=0—— - ———~_]i]
(T? =T +2)dT+@V> + T}y = 0 - — = -~ 2]
(p-PT +T2)dP+(2PT——;— Pz}dT_:O ~~~~~~ 3]

Of these, EXACT differential equation/s is/are/e®9r a5l=s 88 adwmes edmoeis:
/@aupifed HLwns samauildaalgui FwEILUTE /[ FOSTUTHSEMTOIE

(1) [1] and [2] only (2) [2] and [3] only (3) [31and [1] only

-{4) Allof [1}, [2], and [3] (5) None of [1], [2], and [3]

14. If G = {1-cos)sin3¢; then (i(—;) =
. de ),
(1) (1- cosB)cos3d (2) 3(1- cosB)cos3¢ (3) 3(1- sinB) sin3d
(4) -3sinBcos3¢ (5) -3(1- cosO) cos3¢

15. An example of a continuous variable is/ @038 SmumoBO sOEw § cepwdens dned/en
OaTLT rHE 2 FTTUIOTSS QEHTaT6NHIIQUIS]

(1) number of atoms in a mole of ethano!l /&merdE ®fcwm 18 ©o@ieq v /@@ (e
TI&HBeTelley 2_siien DiEINIBEHEN6H  6TerTENTSH S

(2) number of chairs in a class room/ o8 m®dwm @B §g veasy/ augluempuigieier sdHenyseiisr
orevstenildban & ‘

(3) time taken to finish a task /e etment 0®ybe BB wsiow § muce/m Gausmevanw (Pghs
IGEICII )

(4) titles of jobs /om0 51@® /Baieneussia HaneOWIEIERISST
(5) number of members of pariiament / e:5EedsTned esizn e8mBsT wess /UTYTEHLOEITE
2 siten SiulEEEaiITHeldr aemeibans

16. A scholarship is to be awarded based on the highest weighted average of three chemistry units
offered at Level 3, Level 4 and Level 5 of the degree programme. The respective weighting
factors at each level are 1, 2, and 3. The winner is to be chosen from the following candidates
whose marks at each level are given below.



£od =00E® 3, 4 o 5 b 8308 958 cows Doy Sonrs gon code o
{highest weighted average) oen@emd cne Besdtod gome H080 gewmd ewed. o ‘
o 98080 B0 BERe mOno BEDES 12, 3 8. con ocwd gedtendded & i
2 05080 one CED O SEHOHN® WD) ©F ELed.

3, 4, 5 o wirmsals @perweissenpuls  enpmisluGD UL CpHseia) 2 Wihs
sgrafi (highest weighted average)Quupuorerssil GUDILAIGSS, @G el uiflflsd -
QUpESILGHDS. oo wiLsHnGoTer Hpmind srjaisal wempbw 1, 2, 3 GO
Gereumd  uflsmigdeefelimhs  Gaupdwmsnt  FuotalssluGouspsts  @aulars
ol 1_shFevipeien Leisfleeil S8 SIOLL(HerTene.

Candidate Level 3 Level 4 Level 5

aessRen) ®@3J0@ 3 8309 4 ado® 5

uflenigal Wi 3 wieih 4 | wieib S

A 50 60 50

B 45 40 65

C 85 45 40 |
1

D 60 60 60 |

-E 45 65 75

The winner of the scholarship is/ Bexsd 8w Dmed/alpmst Guoed Geupplumer
(1) A - {(2)B B) C (4)D (5) €

Consider the following data to answer Q 17 and Q 18 / gd» g 17 w0 18 wgm @B ¢l
semsts. /lEampd srammand shsHNCsTanG olar 17, 18 @ng efleni_wield @ .

The following are the mathematics scores of 15 students /8gz? 15 ocomned 0&anwd 30C CRH
s ased./ idisumeusn 15 wremeaissiar sails uTLSHnere GunIBLDIEMTEGLD.
76,75, 45, 35, 60, 44, 37, 59, 47, 62, 58, 49, 57, 61,25

17. The arithmetic mean and median of this set of scores, respectively, are /6®® ERROCE
D1 e B BEOEH Omed /@hslt CunCUIseTal aaisas i,
Benund eissiuien (WemmBGw

(1)54,57 (2) 57, 54 (3)54,57.5 (4) 54, 58 (5)55, 57

X —X X, — f‘ .
18. The value of the expressions z—-'*-- and ZL-—— (symbols used have their standard
" n

ixi - f‘ )
0 (@ alO eensy weenim
p g &

. L X —X
meanings), respectively, are / Z_L____ 262 Z
n
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. o X - X X, ~X
Ddmmd g1.) 8 gmnemdEd 4o gow dmed/ Z—me— HEILD ZL-——I
o o n

GeusfitiunGeetlar Gupuorsrd, penmBu
BUND S(hSHGIHHE6NdD (b T6uwi(R6iTeTsn)

(urelldain L GRlGsat swupBine

(1)‘0, 0 (2)0, 16 (3)103,0 {4)0,103 (5)10.3,103

Use the following information for probiems 19 and 20./ som ¢80 o8 Sedod guden gom 19
e 20 e5g00 wodmo OBTm. /idiaurpd SHasddamen 19D, 2010 efaTa&EHBGL
LieLBH eI

The results obtained by 200 students at a examination were summarized as follows. /8ez3 200 » »
od Bwie gBOEOE ©dnn  sum ¢ g, /200 LISTAITET @ UuFmsullsd Qub

GuMICUiIBET @BIE QHBIGMOGSILIL [GETENGI.

failed the exam /8e)®

Gender /8§ adwe passed the exam/ B Total / Gorggid
@OG [umed a®sl [uflsnauiled go®s [ufismauled OwR®
Fod QubBmniv s QuprBsmT
Female/ &8 /Quesi 60 25 85
Male / gde / syem 60 55 1is
Total / o 120 80 200
|Qwnr g | )

19. What is the probability that a randomly selected student has failed the examination? / ests®08eces
enicies’ BeDo (student) Bwns gu@s Se® e®midmde RO? /auphaWwNaEonTs oy
S Leuniu L wrevisuafled ufilenguied AGAwenLWITERIDESETE BBPSHH] WITHI?
(1) 23/40 (2)3/5 (3)2/5 (4)3/8 (5) 11/16
20.What is the probability that a randomly selected student is a female, given that the student passed the
exam? /enicios! Bud Bwins w@s & &1 @0 2 880 & ac Bends Se® ©80i8md
2@3¢? /ufi_msulled HAHuenLB8sMfled suphsoTaoTas Gofley Geuiuin L 9
wremsusti  Guemienns @ @pLusnores Blaipssa) wirg?
(1172 2) 17724 (3) 17/40

(4) 2/5 (5)12/17

21 A committee of 5 members consisting of 2 chemists and 2 mathernaticians is to be formed out
of 7 chemists and 6 mathematicians. Assuming that any of the chemists and mathematicians can
be included in the committee, the number of ways in which this could be done is

- oo Peseens 3 ccemnenms & ofimerns 2 o € g8« 5 scemnems @
28008 o« B30 gemd ewed. Omne Bemeecs 7 ceen £ ofimerces 6 ecemsS



22,

23.

24.

e quds 08 BB el vy EEed. Berd cowm Demercn oo ofinercn DIQOO
gobos e o of condonn WOl 0 DY miEn il PO OX® Oxec

7 @ysmwetediLeorsmi wOHEL 6 seizeluererisaieliphba 3 @remueaaliueoTenTGHmenuild
2 safigefumreniameniid Qarewin 5 SImBSHMT Gupbamain Simnss Coemijid.
sibsGsun @yerwsnelwersGyr, sefigefiusurmGenyr ABsd Guoaled o eiauTmisiuL
(pgupd aieE BHBT, BengEF CFUDUBHS aHSHMM eulflEet 2 _elenen.

{! Factorial)

{1) 50 (2) 7!x6l (3} 350 (4) 525 {5) 300

Tickets numbered 1 to 40 are mixed up and then a ticket is drawn at random. What is the
probability that the ticket drawn has a number which is a multiple of 4 or 5? / 1 80 40 ¢
aemEms OB G B DEO® nd O B 9n & 99 nedied wowxl gows 4 W 5
8 gomicos Be® wBodmds R0 ? /1 OFTL&SW 40 aamyuran Bessw Il
FLpomsn s0&sOUGL. PP @m FLE awWhHSOTENOTE aBHEILILE. aHHBOULL
flge Beodsoneangl, 4 Seoeg 5 @@ LLRsTe SmUUSHETa DepsHoe?

(1)1/2 (2)2/5 (3)8/15 (4)9/20 (5)3/4

The probability of throwing a six (6) at least once in three throws of a single dye is /&g, WOee
eB0E 0 ¢i8e® & goP duens & DN 6 0ided HBMTMOB /e el
STLGSLOML (D WD eflud CuUTH @@ SLEMOILITAIS 683 DleuBDHHTeN
BlapsHoaureng?

(1) 0.518 (2) 0.421 (3) 0.417 (4)7.72x 10" (5)0.386

The values of P, and *C, respectively are / P on °C, & goo BEDRS dged|
P, @engib °C, @engid OuumoHser penpBuw

(1) 20,20 (2)20, 10 (3) 10,20 (4)5/3, 10 (5) 10, 10

A coin and a die are thrown simultaneously. The probability of obtaining a HEAD and a number
greater than THREE (3) is /B0 & o oo dudd chgdeds S £19e@ &
w0 (3) © 08 gme aeed @@ lmBmOn D! @@m HIEILIEALD,
srusslmLud @Gy FwwHHen efsiulLg. @G Smsoupd’, upwiemp ai (3)
sl BevdssHamsud QumssDETen BSPeHe]?

(1) 3/4 (2) 1/4 312 (4)3/14 (5)4/7
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